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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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13:50 333 160.0 0. 627 FH| 1BRi&@13:50 Bzah (RAEREE)
14:50 333 160.0 0. 627 FA| {Ri%@14:50 Bz CGRAERESE)
24t]1665.0 (5)%) 800.0 ZHKEC: 2260, PH: 6.5

FREVRINS Kt iKPH 6.5
ME X i Bl R ECE B HR

FREVEIWN S R iKEC 2263. 0
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07:40 340 160.0 0.627 FA| {Ri%@07:40 Bzl (RAEEE)
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EREBRIRE TR K (0.52 vs 0.47)), AIREE ZREENREEIRK

PRIASLPRERL160. 0 ml.
FERUFE Y S RFHRPH 6.5
RE X i3 Bl ECER HR K.
REVR NS K iKEC 2194.0
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P5

BYiE) | GEBAK(F) | ERE(EH/AR) | EREE (G/R) [ XS R

08:35 340 160.0 0. 627 F  BRi%e08:35 Bal (RAEREE)
09:15 340 160.0 0.627 =l {Rige09:15 B (RAERSE)
10:10 340 160.0 0.627 El 1Ri%e10:10 B3 (RAERSE)
10:55 340 160. 0 0. 627 F BRi&e10:55 Bz (GRAERESE)
11:35 340 160. 0 0. 627 E| {Rige11:35 Bzh (RE{ERSE)
12:15 340 160.0 0.627 =l Rige12:15 Bz (REAEREE)
12:55 340 160. 0 0. 627 E BRige12:55 Bz (GRAERESE)
13:35 340 160.0 0. 627 5| {Ri&e13:35 Bzl (REAERES)
14:20 340 160.0 0.627 =l 1Rige14:20 B3 (RAERSE)
15:10 340 160.0 0. 627 El BRige15:10 Bz CGRAEESE)
16:15 340 160.0 0. 627 El BRi&e16:15 Bz CGREAEREE)
21t] 3740.0 (11%) 1760.0 EWGHKEC: 2130, PH: 6.5

FREVRINS Kt iKPH 6.5
RE X i Bl ECE IR HR 2k .

HEERECE (2350. 0 vs 3240.0) 1R
HEARNE Y S R REC 2126.0
ERGEBIEC (1839.0) S5iRBVEY (2130) RERK, BEE.
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P5 0, Day=68 (2025-06-11)
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’] missing
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Warning: col ['M_E’] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’] missing
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Warning: col ["M_E’] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’'] missing
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